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BUSINESS ENVIRONMENT
Paper : 5.1
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Time — Three hours

The figures in the margin indicate full marks
for the questions.

Answer either in English or in Assamesec.

1. (a) Answer the following : 1x5=5
wee frAcais Tes Az ¢

(i) State one major cause of low rate of
capital formation in India.

SRES TELH 5071 JS WH (N 96T 24l
I CrEd

(i) Name the present Governor of Reserve
Bank of India.

TROE RE$ @9 I9NFT sfed|e =%
GEI
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(iii) Write the full form of MRTP Act.

MRTP S(igqa=g =2l wseot

(iv) What is the basic objective of EXIM

v)

policy of India ?

oRes SMiAgiN Tfex Gl Sl
& 2

Mention the main objective of IMF
(International Monetary Fund).

isifes @ AIfeT A Srwiee! S
Sl

(b) Answer the following as directed : 1x5=5
wore fraae Fost R Sce Oew frt e

(@

)

The Central Statistical Organisation was
established in the year to
estimate India's national income. (Fill in
the blank)

SRET IT S S FT AR A

RS AgE e Sifde EfEE |
(AT 3Z s M) |

The North Eastern Council came into
being in the year . (Fill in the
blank) : ,
Teg-o7 ~Afam R S IS

&R (A oiE oFd )
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© (iii) The World Trade Organisation (WTO)
was set up in to promote
multilateral trade. (Fill in the blank)

el ifderd Safet A B e
7 5 ST EfeE | (AE o
el F90)

(iv) India is not a member of 'G-20 Summit'.
(State true/false)

oread G-20 AEwE T 9= (8% /
ug Wdm =90) '

(v) In India, economic reforms started since
1951. (State true/false)

SETE Shed 5AR FNE SLESF AHE
s e (ew/ees Wl 1)

5 Write short answers (within 30 words each) :
2x5=10
St B ol (AP wobl W feeTe) 8

(a) Mention two major features of National
Income of India.

et AT o 1ol ki @Y TrEd =

(b) State two reasons for need of foreign capital

in India.
SRS RS TEEEE SIS RO 1Ol I
WC"“§| |
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(c) State two objectiveé of Fiscal Policy of India.

©IAeT JGE Alfes 7ol Srwel SrEd 4 |

(d) Name two cottage industries of Assam.

SR 5 IO SoeR A e

(e) Suggest two measures for industrial develop-
ment in North Eastern Region.

Teg-vdiwem Srifale Saes ¥o! Gl Sy
SO

Answer any four from the following (within 200
words each) : . 5x4=20

were fraiaiss R @ien 5t Ses Tl (S
00 *HE fowFw) 2

(a) Mention the difficulties in the estimation of
National Income in India.

ST IFT T AN FEe @A 7w
IARIZANZ. S e |

(b) Explain the incidence of poverty in India.
CINTS AT RSl A B4 |

(c) State some major causes of regional
imbalances in India.

olRee SiwfEe [EUerR G ouaw FRE
S 9

1/4(Sem-5) BUEN (4)

(d) Mention the basic causes of urban unemploy-
ment problem in India.

FIPRR Tl F1 |

(¢) What are the objectives of SAARC ?

afEee o Sl TREfter g (519
STz, & & 2
(f) Write a short note on Special Economic

Zones (SEZs).

e wftafes @ (o) Ram @b 5y
Coret feralt |

~ What do you mean by Business Environment ?

Explain briefly the various components of
business environment in a country. 2+8=10

e~k It & @ 2 @i orlR RS
AR [fen Somemz 53t T 41

What is economic planning ? Briefly explain the

 primary objectives of five year plans of India.

2+8=10
ST AT [ 2 O 2191 ARFEEEe
AIWS ST S I 14|
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Or / L«

What are the objectives of Monetary Policy of
India ? Explain briefly various tools of Monetary
Policy to achieve economic and price stability in
India. 5+5=10

e TuAies Srepr O 7 SRES
WW@WWWWWW
Rfen iRz oI BT |

Explain the factors responsible for Balance of
Payment crisis in India in recent years. Analyse

the various solutions to this problem. 6+4=10

e T R MRS IR - B

IR TS ST IR T P | AR T

TR e 4
Or / =l
What is Globalisation ? Critically examine the

impact of globalisation on Indian economy with

reference to industry and agriculture. 2+8=10

(shEIRee e & 3 ? oo SdAIfeS Ul
wchW«wWWI
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7, Explain the problems and prospects of Tourism

Industry of North Eastern Region. 5+5=10

Bo-ofdizeety #1A Toupiely HPUPRE oI 23S
AT AERAPTIR A | |

Or / 9t

Explainrthe recent crisis faced by Tea Industry
in Assam. Analyse the government efforts for the
development of Tea Industry in Assam.  5+5=10

Ao TRTe TS B Trans TYIW @[l
TEIPER W T bR SopR Safes A
BIFIC aizdl o9l eubrigE [esad w1
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